2-i
2+

@

ol O

2+
2-i

S 2rs] sh? (B, i = V-1 o|t}.)

@ 2 ® @

ol oo
w| o



2.

x=1998, y=4331 ¢ o,

D 0 1

x—l—yl
- Xi

® -1

+ 22 o) grey

x+y

@ i



o|zHrA KX
A X+ (a+2)x+1 =00 T2
=

o grel g2 Foha?

B
=¥

zr

3

ot
—_
rr

Wil

i
+






she Fafolz

_g]

7+ 3
5

X+2y+3z2=7

|

Il I Il
= > v

D D in
(~ I~ B~



NEx=a,y=b,z=cet &

9]

2x+y+z=12

x+2y+2z=3
x+y+2z=5

|

o], abe 9

® -7 3 0 @ 7 3 14

D -14



T, (x=3)(x=1)(x+2)(x+4)+24 & AFENHA (x+a) (x+b) (x> +cx+d)
oIty a+ b+ c—d2] =S Fotofet.

B
=¥



2
4 — (52 + by*)(x* +
S AlS ASEGHH x4 — 322y + 4yt = (x2 + axy + by?)(

2 5 JEPADS
cxy+dy)%_tq1 a+b+c+d 2 ISt (a,b,c,dv= )

e =
-



ojatt y = ¥? +ax+2a & T E= x FF A A, B oA Tl

B=2<4d o, RE A5 a9 3] g okeiet

e =
c



10. STy =ax®+bx+8,y=2x>-3x+2° F 1L
2ol y=-x+6 4 ™, &5 a, b F= Ao

D a=-1,b=-1 @ a=-1,b=0

@ a=1,b=0 @ a=1,b=-1

® a=0,b=1

ol



11.

1>

ax—6y—2=0,

—-5)y—1=00°] diste],

& A WESHE 17k YR o9 e Hohe 2



ol

Al
=

12, 254 (@- b+ (b-2) > 09 7k x > DA W, 2

ax? + (a+ 2b)x + (a + 3b) < 02] of& ~o}H?

DO 3<x<T @ -3<x<1 ® x<2, x>3

@ -1<x<?2 B x<-2 x>4



bl 4

S

OJAFEFA] (x +1)? < k(x* - x + 1)0] BE A xof of
& 7steiet

9w, A% ko) Hgt

g

A

13.



8 ol RE 2

(x 22 + 1 Bt g4 %] Y A4k O A 4

% k ©] go) W slel &5t

A x of tiste] A y = 2(kx + 1) o] F4

g o,
OFL 7109

W AT



]_5- - — v BA 1
/\ 2~ alZ3ck s 7}
3
+
1
=2
=
k) 3
+ Ta
7 o 9
=
?_

X )( X 0 X O]'Eq

@
18
@
19
©]
20
@
21
®
292



16.

33} olste] thab] £(x) ol Tisted
/() _a b

G-D-2)x-3) x x-1 "

- X
25dd B2 ALY (Ha, b, ¢, de

=

o o ol



17. o4 f(x)E ax+bla # 0) 2 i ] 5& Q). YA R
OlkT Bek. xf(x) & x+ © 2 e oA ok 7



ax* + (a—3)x-2a = 09 T 22| 27} Vi70o] HEE

1

o171

[anl)
o|J
ol

J

—_
fife)



19. a+b=1, a®> +b*=-1%4 o], ¢?000 4 p2906 9] Z}-2-7

D -2 ® -1 A 0 @ 1



20. 719 I 4 axt L0324 bey k=
b

7 W, ab(a +b) ] L2 (S, a # b)

@ -1
@0
®1
@ 2
® a, b2 gkl ek gk



